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�� �� ���	 �� �� ���	 �� �� ���	 �� �� ���	 / / / / Que. Paper No.Que. Paper No.Que. Paper No.Que. Paper No.    ::::    II/24-25/P-7-3/ 

%�#) /%�#) /%�#) /%�#) /Subject Subject Subject Subject ----    D%$'D%$'D%$'D%$'    / / / / MathematicsMathematicsMathematicsMathematics    

�"$	�; / �"$	�; / �"$	�; / �"$	�; / Max. Marks Max. Marks Max. Marks Max. Marks ----    100100100100    �>) / �>) / �>) / �>) / TimeTimeTimeTime    ----    3 ��u	/3 ��u	/3 ��u	/3 ��u	/3 3 3 3 HHHHoursoursoursours    
 

����....1111....    �M( %�;� ;�  �	>P �  (�M( %�;� ;�  �	>P �  (�M( %�;� ;�  �	>P �  (�M( %�;� ;�  �	>P �  (����) ) ) ) %h�%h�%h�%h�    ID	FUID	FUID	FUID	FU    ––––                                2222    × × × × 10101010    = 20= 20= 20= 20    
    PutPutPutPut    a (a (a (a (����) mark in front of the correct option ) mark in front of the correct option ) mark in front of the correct option ) mark in front of the correct option ----    

1.  g ��"+; ;g$^ ;	 )gD Mg'	 MR : 
 The sum of two supplementary angles is : 

 (Q) 300  ({) 1800
 

 (F) 900  (v) 3600
 

2. >	P �	' ;+G -   40 ;	 40%  =  .................  
 Find the value of - 40% of 40  =  ................. 

 (Q) 40   ({) 20 

 (F) 50   (v) 16 

3. %P�%I%Y' >G ;�P-�	 ;=P �M( MR ? 
 Which of the following statement is correct ? 

 (Q) 15 ;	 D H$	�; �%'Ig> (–15) MRO 
  The multiplicative inverse of 15 is (–15) 

 ({) 17 ;	 D H$	�; �%'Ig> (��)

��
 MRO 

  The multiplicative inverse of 17 is (��)

��
. 

 (F) 15 ;	 D H$	�; �%'Ig> �

��
 MRO 

  The multiplicative inverse of 15 is �

��
. 

 (v) (-15) ;	 D H$	�; �%'Ig>  �

��
  MRO 

  The multiplicative inverse of (–15) is  �

��
. 
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4. (–10) × 1 × (–2 )  ;	 MI MR – 
 The solution of (–10) × 0 × (–2) is - 

 (Q) 20 + 1 ({) 20 + 0     

 (F)  20 × 0  (v) FP>G � � ;gv PM< 
     None of these 

5. ' Hz %!� ;�  ��� >G %P� >G � � ;�P-�	 ;=P DI' MR ? 
 Which of the following statements is incorrect regarding equivalent fractions ? 

 (Q) %!� 
�

� 
  ;( ' Hz %!�  

�

� 
  MR O 

  The equivalent fraction of the fraction 
�

� 
 is 

�

� 
 

 ({) 
	�

��
  ;( ' Hz %!�  

�

� 
  MR O  

  The equivalent fraction of 
	�

��
  is 

�

� 
. 

 (F)  g ' Hz %!� ;�  \�� D H$P �+�+ �>	P Mg' � MN O 
  The cross products of two equivalent fractions are equal to each other. 

 (v)  �


	�
  =  �

� 
   

6. )%  x – 4 = 10 MR 'g x ;	 >	P �	 MgD	? 
 If x – 4 = 10, then what will be the value of x ? 

 (Q) 4  ({) – 14 

 (F) – 6  (v) 14 

7. %P� >G � � �M( PM< MR ? 
 Which of the following is not correct ? 

 (Q) 2.4 + 0.2 = 2.6  ({) 2.4 ÷ 0.2 = 1.2 

 (F) 2.4 × 0.2 = 0.48  (v) 2.4 – 0.2 = 2.2 
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8. %P�%I%Y' {�;�^ ;	 t�I; MgD	 : 
  The mode of following data will be : 

  3,   3,   4,   5,   5,   10 

 (Q) 3  ({) 4 

 (F) 5   (v) 10 

9. %P� ;=P^ ;g � ;+  ( D)� %�;� >G �M( %�;� ;	 h)P ;+G - 
 Read the following statements and select the correct option from the given 

options - 

 (Q) %;�( t¡ {;K %' ;�  h	+^ ¢+ ;( £+( ;	 )gD �%+>	� ;MI	'	 MR O  
 (a) The sum of the distances around a closed figure is called its  
  perimeter. 

 ({) %;�( t¡ {;K %' &	+	 � �+	 D)	 X	P, V� {;K %' ;	 , ���I ;MI	'	 MR O  
 (b) The space enclosed by a closed figure is called the area of  
  that figure. 

 (F) {)' ;	 , ���I = I�	v x h��	v  
  Area of rectangle = length x width 

 (v) FP>G � � ;gv PM< / None of these 

10. %�! H~ >G �>%>%' ;( %;'P( +�Y	U i Mg'( MN? 
 How many lines of symmetry are there in triangle ? 

 (Q) 3  ({) 1 

 (F) 2  (v) 4 
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    Fill in the blanks Fill in the blanks Fill in the blanks Fill in the blanks ----    

1. 345 >G 4 ;	 U;	%¤;�P �"�¥$ ..................... MgD	 O 

 Ekadhiken Purven of 4 in 345 will be ..................... 

2. 17 + ..................... = 67 

3. 0.8 × 5 =  ..................... 

4. �>	�+ >	¦  =   
......…………........

;HI {;�^ ;( ���	
  O 

 Arithmetic mean  =   
...........……………….

Total number of observations
 

5. �MI( %�#> �	;K ' ���	 MR  ........................ 

 The first odd natural number is ..................... 

����....3.3.3.3.    %P�%I%Y' ) H§>^ %P�%I%Y' ) H§>^ %P�%I%Y' ) H§>^ %P�%I%Y' ) H§>^ ;�  %>I	P ;�  %>I	P ;�  %>I	P ;�  %>I	P �+ %�h	+ ;(%~U�+ %�h	+ ;(%~U�+ %�h	+ ;(%~U�+ %�h	+ ;(%~U    ––––        2222    × × × × 5555    = 10= 10= 10= 10    
    Consider matching the following pairs Consider matching the following pairs Consider matching the following pairs Consider matching the following pairs ----    

 1. 15 ;	 U;	%¤;�P ;. >	%¦;	 
  Ekadhiken of 15  Median 
 2. 2 cm ! H~	 �	I� �D * ;	 �%+>	� Y. {�� >G �>	P Mg'	 MRO 
  Perimeter of square with side 2 cm.  Equal to each other. 
 3. >¦ >� {P � �	I� �  ;	 >	P D.  16  
  Value of the middle term 
 4. ��D' ;g$  �. 8 cm  
  Corresponding Angle 
 5.  g �"+; ;g$ ;	 )gD  ¨.   900 
  Sum of two complementary angles  
    h.  >	¦ / Mean 
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����....4444....    %P�%I%Y' ;=P^ ;�  �S %P�%I%Y' ;=P^ ;�  �S %P�%I%Y' ;=P^ ;�  �S %P�%I%Y' ;=P^ ;�  �S Q�S ;	 h)P ;(%~UQ�S ;	 h)P ;(%~UQ�S ;	 h)P ;(%~UQ�S ;	 h)P ;(%~U    ––––        1111    × × × × 5555    = 5= 5= 5= 5    
    Select the true or false of the following statement Select the true or false of the following statement Select the true or false of the following statement Select the true or false of the following statement ----    

 1.  g ���	¢ � ;	 >	¦ � R� VP;�  t(h %X' Mg'	 MR O 
  The mean of two numbers always lies between them. 

 2. ���	 “0” P 'g ¤P	�; «+ P	 M( ¬$	�; �%+>�) ���	 MR O 
  The number “0” is neither positive nor negative rational number. 

 3. 
	

�
 ">$ 

�

�
 

 4. %;�( {;K %' ;( �!( ! H~	¢ � ;�  )gD ;g �%+>	� ;M	 ~	'	 MRO 
  The sum of all the sides of a figure is called the perimeter. 

 5. 28 ;	 %�P;HI> ­ ���	 5 5&  Mg'	 MR O 
  The Vinkulam number of 28 is 5 5&.  

����....5.5.5.5.    Q%' IQ%' IQ%' IQ%' I�"�"�"�"W+() ��W+() ��W+() ��W+() ��    ––––            2222    × × × × 10101010    = 20= 20= 20= 20    
    Very Very Very Very SSSShort hort hort hort AAAAnswer type nswer type nswer type nswer type QQQQuestionsuestionsuestionsuestions    ----    

1. U; �D	 *;	+ ;, ;	 , ���I �	' ;(%~U %~�;( I�	v 5 >(u+ Mg O 
 Find the Area of a square room whose length is 5 meters. 

  

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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2. )%  3 � H®>	I	 ;	 >"z 60 ¯. MR 't °�( M( 10 � H®>	I	 ;	 >"z �	' ;(%~U O 
 If the cost of 3 garlands is 60 rupees, find the cost of 10 such garlands. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

3.  ( Dv {;K %' ;( �>%>%' +�Y	 Y<%hU O 
  Draw the line of symmetry of the given figure 
 

             

 ----------------------------------------------------------------------------------------------------- 

4. D H$�I �	' ;+G –  (–5) × (3) × (–2) 
 Find the product -  (–5) × (3) × (–2) 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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5. �±IP-²�;IP �"� ;	 V�)gD ;+ )gD�I �	' ;+G – 
 Find the sum using the sankalan-vyavakalan formula - 

  75 + 33 + 89+ 18 + 28 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

6. 25 % ;g �	¤	+$ %!� >G t %I)� O  
           Convert 25 % to simple fraction. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 

7. 80° ;	 �"+; ;g$ �	' ;+G O 
 Find the complementary angle of 80 °. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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8. 1, 5, 6 ;	 «�' �	' ;(%~UO 
 Find the average of 1, 5, 6. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

9. 473 %�P;HI> ­ ���	 ;g �	>	j ���	 >G t %IU O 

 Write 473  Vinkulam number in general number. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

10. MI ;+G/Solve  : 2, − 3 = 10 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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����....6.6.6.6.    IIII�"�"�"�"W+() �� W+() �� W+() �� W+() �� ––––    / / / / Short Short Short Short AAAAnswer nswer nswer nswer QQQQuestionsuestionsuestionsuestions -        3333    × × × × 5555    = 15= 15= 15= 15    

1. %P%YI> ­ ;�  �"� ;	 V�)gD ;+;�  �u	U iO 
 Subtract using the formula of Nikhilam. 

 8  0  0  0  0 

     –   2  3  5  1  8 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

2. 5 >G � � 0.34 �u	U�O 
 Subtract 0.34 from 5. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

3. 5 : 7 ;�  '(P ' Hz QP H�	' �	' ;+G O  
 Find three equivalent ratios of 5 : 7. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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4. U; ´;	P 	+ 300 ¯.>G U; ;H�[ ;g \) ;+ 250 ¯.>G %�\) ;+  �'	 MRO ´;	P 	+ ;g %;'P � ¯�)� 
;	 I	! )	 M	%P �{ ? 

 A shopkeeper buys a chair for Rs. 300 and sells it for Rs. 250. How much 
profit or loss did the shopkeeper make ? 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

5. )%  �KW ;	 ²	� 5 � �>(. MR 'g �KW ;( %�µ	 '=	 , ���I �	' ;(%~U O 
 If the diameter of the circle is 5 cm. than find the radius and area of the 

circle. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 
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����....7777....     (� * VW+() ��  (� * VW+() ��  (� * VW+() ��  (� * VW+() �� / / / / Long Long Long Long AAAAnswer nswer nswer nswer TTTType ype ype ype QQQQuestions uestions uestions uestions ----    5555    × × × × 4444    = 20= 20= 20= 20    

1. %P�%I%Y' ;=P ;g �>(;+$ ;�  }� >G %I%YU '=	 �>(;+$ ;g MI !( ;(%~UO 
 Write the following statement in the form of equation and also solve the 

equation. 

  a ;	 20 D HP	 100 MR / 20 times of a is 100. 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

2. ��Tg¦>	P � ·>K$¸>�%' ·¸� ,)qZ H%'¯r���Tg¦>	P � ·>K$¸>�%' ·¸� ,)qZ H%'¯r���Tg¦>	P � ·>K$¸>�%' ·¸� ,)qZ H%'¯r���Tg¦>	P � ·>K$¸>�%' ·¸� ,)qZ H%'¯r�¹¹¹¹h ºh ºh ºh º    

 Vr »g; ;( ²	�	 ;g �>¼	' � �U %P� ;g MI ;+G – 
 Solve the following explaining the interpretation of the above Shloka - 

   + 50 – 45 = 
   + 45 + 56 = 
   – 30 + 40 = 
    »g; ;( ²	�	»g; ;( ²	�	»g; ;( ²	�	»g; ;( ²	�	/ / / / ExplanationExplanationExplanationExplanation    of of of of ShlokaShlokaShlokaShloka    ----    

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

    



�"� * �KL Q�; )gD 

 + 
�' *>	P �KL �	�	�; 

= 
F� �KL ;�  Q�;^ ;	 )gD 

 

D%$'/D%$'/D%$'/D%$'/MathematicsMathematicsMathematicsMathematics    
24242424----25 /25 /25 /25 /PPPP----7777----3333    

� � � � � � � �     !"#$ !"#$ !"#$ !"#$ %&'(%&'(%&'(%&'() ) ) ) �# * �+(,	 / �# * �+(,	 / �# * �+(,	 / �# * �+(,	 / VedaVedaVedaVeda    BBBBhushan hushan hushan hushan SecondSecondSecondSecond    Year Year Year Year ExaminationExaminationExaminationExamination    
;,	 ;,	 ;,	 ;,	 7777�<�<�<�<    / �=>	 / �=>	 / �=>	 / �=>	 ----    IIIIIIII    / Class / Class / Class / Class 7777thththth    / / / / PrathamaPrathamaPrathamaPrathama    ----    IIIIIIII    

SET SET SET SET ----    AAAA    

 

    12121212    �# */�# */�# */�# */Year Year Year Year ----    2022022022024444----22225555    
 

    MIMIMIMI/Solution/Solution/Solution/Solution    ----    

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

3. , «+ 0 ;	 >	P �	' ;(%~)�O 
 Find the value of , and 0. 

 

 

 

 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 



�"� * �KL Q�; )gD 

 + 
�' *>	P �KL �	�	�; 

= 
F� �KL ;�  Q�;^ ;	 )gD 

 

D%$'/D%$'/D%$'/D%$'/MathematicsMathematicsMathematicsMathematics    
24242424----25 /25 /25 /25 /PPPP----7777----3333    

� � � � � � � �     !"#$ !"#$ !"#$ !"#$ %&'(%&'(%&'(%&'() ) ) ) �# * �+(,	 / �# * �+(,	 / �# * �+(,	 / �# * �+(,	 / VedaVedaVedaVeda    BBBBhushan hushan hushan hushan SecondSecondSecondSecond    Year Year Year Year ExaminationExaminationExaminationExamination    
;,	 ;,	 ;,	 ;,	 7777�<�<�<�<    / �=>	 / �=>	 / �=>	 / �=>	 ----    IIIIIIII    / Class / Class / Class / Class 7777thththth    / / / / PrathamaPrathamaPrathamaPrathama    ----    IIIIIIII    

SET SET SET SET ----    AAAA    

 

    13131313    �# */�# */�# */�# */Year Year Year Year ----    2022022022024444----22225555    
 

4. T"jT"jT"jT"j$*$ *$ *$ *)g½ Y)g½ Y)g½ Y)g½ Y¤¤¤¤P)g½P)g½P)g½P)g½    YT"j)g�	 * �YT"j)g�	 * �YT"j)g�	 * �YT"j)g�	 * �¤½ ¤½ ¤½ ¤½ T"j> ­ OT"j> ­ OT"j> ­ OT"j> ­ O    

 Vr »g; ;( ²	�	 ;g �>¼	' � �U %P� ;g MI ;+G – 
 Solve the following explaining the interpretation of the above shloka 

   (+60) + 0     =      

   (+60) + 0     = 

               ( –5) – 0    =      

      (� 5)



        =   

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------------------- 


